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H% dlfhJuadlJ&u  (1,3)  unz (3,6)

l&J th&JUtldlJ,bl  (1,3), (3,5) Ml: (5,6)
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A = 10,  21,  (2, l), (1,  3),  (3, l), (1,  4),  (4, 11,  (2, 3),  (3, 2)s  (2, 5), (5, 2),  (3, 7)s

(7, 3),  (3, 8),  (8, 3),  (4, 3, (5, 4), (4, 6), (6, 4),  (4,  8),  (8, 4),  (6, 8)s  (8, 6),

(7, 8)s  (8,  7))

olfqd  1.6 (U)

= = [ 1, 4, 5, 6, 7)

x = IO, 4),  (4, 11,  (4, 5), (5,4), (4, 6), (6, 4),  (4, 7)s  (7,4)1

+h-i.l E ldU~lll~~UO4  N

z ih8UL%pIUtlJ A
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bAA=lqlJ  (0)  &duthvlwl~iluslu  (4)

9lflJd 1.6 (9)

N = 11, 2, 3, 4, 5, 6, 7, 8)

A = ((1, 21,  (2,  11, (1,  3h (2,  3),  (3,  6h (4,  3),  (4,  6),  (4, 7),  (4,  81,  (5,  2)s  (5,  4),

(6, 4),  (8,  4))

Qltqd 1.6 (0)

N= (1, 2, 3, 4, 5, 8)

Yi = to, '2)s  (4, 3),  (4, 81,  (5,  2),  (5,  4))

lh80 G Aih~IJACHRVDJ  N

A AfhdiAWlUOJ  A

9hWlU~d  1.6(O) AhhJWUhJUB~%IJ  1.6(q)

UO"f~l"hhJ~l~l~d  1.6(O) ~~Abuu'ler9luA3001~~~~n~a~  AW5l~h?hdFItl  1% l&l 1

qili AhJs~wil~rugwj9ila~  bAiltJSlu  Aaat9d~g$n5$utilw~u  hh.l lhJlU~d  1.6(O)

%AthdlJ%hMhJWA~d  1.6(d)

VWhhiUYl~dlU (spanning tree) n"o~ul~~Jlu'wvln~~~~~~l~~~u  l.hJddhhJ

sdih n fh AASahiulGd~9y'w  nY'wAAn~:7AtPir~geuASu~~u~u  n-1 &~JA&N  (AW~BM#A%

%$n5)  9~A%Jduw'R~AAlJlJTlflPl#llJ Wl~d 1.6 %1](n) AAtE (n)n"Q h.A~~AlllWdhJ0~

u'lCJ~lU(n)A6tI~(4) W1Udl&l  lWlZhWA~d  1.6(n) 7 F= [l, 2, 3,4, 5, 6, 7,8) &

At&Ufh  NhYhtI~1U~d  1.6(n) lh!lU?U~~UDJu'l~~lU  #O n= 8

m= x= IO, 2),  (2,  11, (1,  3),  (3,  1)s (3,  7),  (7, 3),  (3,  8),  (8,  3),  (4,  5),  (5,  4),  (4,  6),

(6,  4),  (6,  8),  (8,  6)l

nio9Blu?uA#uA4au  =7 AduA&w

Adominilwnqd 1.6(n) ~guu'igl~luA40ulaJAw~l~~~~l~~~~  1 %i nlo 1 qnl?iA&ou

¶W-h~fi~~Bil~~  hilWlU  AAA~AbUu'l"~lU~~oji~~~n~  ~~AillUhJ;wllhFJkJ~lU~d  1.6(n)

AAn=dlUaUlJ'wUeJdluslU~~ 1.6(n) An'l~~iu6lU?UlJ'wUoJil~~lU~~  1.6(n)%  8 aluau

AdUA&JlJUMilWlUt%  7 !%,:,hJWJg;d  1.6(~)~Q6~U~U;UI~AIPIYPIO~~luU~~~l~~lU~~

1.6 (n)

lilUWJ'jd  1.6 (FA) 9 F = 11, 2, 3,4, 5, 6, 7, 8) daAw'lfh  N hJu'ltJ~lU~d  1.6(Q)

Miodluauu'HlJo~u'la~lu  do n=8

x= ((2, I), (4,  3),  (4,  6),  (4,  8)s  (5,  2)s  (5,  4),  (7,  4)I
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1 0  1 1 0

x = Cx*&  x ‘$ = 2 1 1 1 1

3 1 1 0 1

4 0 1 1 01 I



X31  = 1

X32  = 1

X33  = 0

X34  = 1

x41 = 0

X42  = 1

x43  = I

x+$  = 0 nm%6%#  ur4aalQlnfiw 4 1l.l¶h 4

a1  4 4 a4 4 86

1 101 0 0 o-

MT: z = [zJ4 x6  1=  2 1 0  [ 1 1 0

3 0 1 0 1 0 1

4 0 0 0 0 1 1

1 1
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2 3 4 5

1 0 1 0

0 1 0 0

0 0 0 0

0 0 0 1

0 1 0 0
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1

2

X’[XJJ,>  - 3

4

5

1 2 3 4 5

m

0 1 1 0 0

1 1 1 10

1 1 0 1 0

0 1 1 0 0

0 ,o 0 0 0

2 = [2iJ5*6 = 3

I
0 1 0 1 0 1

4 0 0 0 0 1 1
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81 82 % a4 4 Ba a, Bs 89  a10 a11 t
r

1 1 1 0 0 0 0 0 0 0 0 0 0

2 0 1 0 0 1 0 0 0 0 0 0 0

3 1 0 1 1 0 0 0 0 0 0 0 0

4 0 0 0 1 0 1 1 0 0 0 1 0

5 0 0 0 0 1 0 1 0 0 0 1 0

6 0 0 0 0 0 0 0 0 0  1 0 1

7 0 0 0 0 0 1 0 0 1 1 0 0

8 0 0 1 0 0 0 0 1 0 0 0 0

9 0 0 0 0 0 0 0 1 1 0 0 1 -
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